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QUESTION 1

A customer is planning to upgrade NSX r in a VMwarc Cloud Foundation consolidated deployment to unlock new
features. Which factor must be considered during this planning phase?

A. NSX-T Manager must be converged to standalone before the upgrade.
B. NSX-T follows the Management Doman upgrade Bill of Material.

C. SDDC Manager, vCenter Server and PSCs must be upgraded first.

D. NSX-T upgrades can be performed separately from the VI Domain

Correct Answer: A

QUESTION 2

Which prerequisite is correct for vRealize Automation when deploying vRealize Suite components using vRealize Suite
Lifecycle Manager?

A. Configure the vRealize Suite Lifecycle Manager appliance to use the ESXi host as a NTP source.
B. Run an external vRealize Orchestrator workflow.

C. Deploy vRealize Operations Manager before vRealize Automation.

D. Deploy Workspace ONE Access before vRealize Automation

Correct Answer: C

QUESTION 3

A system administrator noticed that a third-party certificate has expired in one of the VMware Cloud Foundation
component resources. The administrator must replace the expired certificate.

Which pre-requisite step is required for this process?

A. Verify that the certificate is configured for basic authentication.

B. The Certificate Authority configuration files must be configured and packaged in .tar.gz file.
C. The valid Certificate Authority server must have the correct roles installed.

D. Ensure that the bring-up process is complete and successful.

Correct Answer: B

QUESTION 4
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Which two statements accurately characterize vSphere Pods? (Choose two )

A. A vSphere Pod is the smallest building block of vSphere with Tanzu that can run containerized applications.

B. A vSphere Pod can run only one container, and the minimum number of vSphere Pods in a cluster is three pods.
C. AvSphere Pod is just a VM that runs a minimal version of Photon OS and container runtime on top of it.

D. A vSphere Pod is a Kubemetes pod that runs on Tanzu Kubemetes Cluster

E. A vSphere Pod can use normal vSphere Standard Switch and vSphere Distributed Switch

Correct Answer: AD

QUESTION 5

What is a valid use case for using multiple clusters in a workload domain?
A. Sixty-six hosts are required in the workload domain

B. VSAN is required as a principal storage option.

C. NFS is required as a principal storage option.

D. Thirty-three hosts are required in the workload domain.

Correct Answer: C
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